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Exam stress

It's exam time again, but how do you manage? Leave your studying until the last
minute and stop everything you enjoy and study all the time. Is it the right thing to do?
Or is there another strategy to follow? All you need is to organize your time.

First of all, you need to begin studying early. If you just revise the day before,
you will definitely get stressed! Just prepare a study plan and stick to it. In this way,
you will make sure you complete everything on time. You will also be much calmer
and a lot more relaxed.

Secondly, you have to eat well and get enough sleep. If you have plenty of
energy and your mind is rested, you will be able to think more clearly. It is also a good
idea to go for a walk, for example, or have a quick snack with friends. Don't forget
you need to find time to relax and have fun. This can help to clear the mind.

All in all, what you need is to plan your time carefully. If you do this, exam
stress will not be problem.

Adapted from Upstream, Elementary A2
Virginia Evans-Jenny Dooley. Express Publishing 2008

Part One (14 pts)
A/-Reading Comprehension (07 pts)

Read the text carefully and do the following activities:
Activity One (03 pts): Read the following statements and write ''true'' , ''false"
or ''not mentioned'':

1- Planning well for exams is the best way to avoid exam stress.

2- Studying in a library is better than studying at home.

3- You don't need to sleep well before exams.

Activity Two (02 pts): Answer the following questions:

1- Is it a good idea to revise the day before exams?

2- Do fun activities help to clear the mind?

Activity Three (02 pts):
- Find in the text words that are closest in meaning to the following (01 pt):
like=.............. finish=..............
- Find in the text words that are opposite in meaning to the following (01 pt):
WIONZ Z . oo veee e e e relaxed#..............
s 30t
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B/-Mastery of Language (07 pts)

Activity One (02 pts): Spot the mistakes and write the corrected sentence.

If I were you I would revised my lessons in home.

Activity Two (03 pts): Write the correct form of the verbs in brackets.

1- Relaxation (to be) important at exam time.
2- Learners could (to have) some fun activities when studying for exams.
2- If you leave your revision until the last minute, you (not / to avoid) stress.

Activity Three (02 pts): Find in the text four words that have the following
sounds:

/ 1/ (sit) /i: / (meet)

Part Two (06 pts): Written Expression

Your classmate is always suffering before exams and becomes very anxious.
She / He asks you before the B.E.M exam for advice to avoid this stress. Send
her / him an email in which you suggest some pieces of advice.

Write about:

- planning before exams

- revising in pairs or group

- relaxing and having a healthy diet

DO NOT SIGN NAME
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Part One:
A/-Reading Comprehension:
Activity One:
1pt 1- True.
1pt 2- Not mentioned.
1pt 3- False.
Activity Two:
1pt 1- No, it is not / No / No, it is not a good idea / If you just the day before,
you will definitely get stressed / it is a bad idea / it is a wrong idea.
1pt 2- Yes, they do / Yes, fun activities help to clear the mind / Yes / Fun
07 pts activities help to clear the mind / Don’t forget you need to find time to
relax and have fun.
Activity Three:
0,5ptx2 a) - like = enjoy. - finish = complete.
0,5ptx2 b) - wrong # right. - relaxed # stressed.
14 pts 0.5pt
each
B/-Mastery of Language:
Activity One:
0,5prx4 If I were you , I would revise my lessons at home.
Activity Two:
07 pis Ipt 1- Relaxation is important at exam time.
Lpt 2- Learners could have some fun activities when studying for exams.
3- If you leave your revision until the last minute, you won't avoid / will
1pt not avoid stress.
Accept the following answers if they are given by the candidates: cannot
avoid / may not avoid / might not avoid
Activity Three:
/ 1/ (sit) /i: / (meet)
0,5ptx4 || Exam/ it/ manage/ studying/ until/ minute/ Leave/ need/
everything/ enjoy/ study/ is/ it/ thing/ strategy/ begin/ | complete/ eat/
early/ if/ before/ will/ definitely/ prepare/ stick/ this/ | sleep/
0,5 pt relaxed/ secondly/ enough/ plenty/ energy/ rested/ upstream/ be.
each think/ clearly/ relax/ quick/ with/ example/ in/
carefully/ adapted/ elementary/ Virginia/ Jenny/
Dooley/ express/ publishing.
NB: Concerning (be), it can be both short and long according to the
sound that follows: Consonant or vowel/strong or weak form.

2 w1 dada




PART TWO: Written Expression.

dadal) LY palic

£ saxa | Bl
Criteria Good Fair Poor
Relevance -Topic: Candidate writes -Topic: Candidate writes | -Topic: very little
(2pts) pieces of advice about how | pieces of advice about reference to the

to cope with exam stress: exam stress: Some ideas topic. (0,25pr)

ideas are related to the are related to the topic. -Format: incorrect.

topic. (0,5pr) (0,25p1) (0,25pt)

-Format: the Candidate -Format: the Candidate

writes all the parts of e- writes an e-mail Some

mail. (0,5pr) parts are missing. (0,25 pr)

(pr) 0.5p1) (0,5p1)

Organization | -Ideas well organized. -Some ideas well -Ideas not well
(2 pts) - Topic sentence/4 or more | organized. organized.

supporting sentences and a | - Topic sentence/ 2 or 3 - Confusing ideas.

conclusion. supporting Sentences. - No topic sentence, no

- All the sentences - No topic sentence/ no conclusion.

linked correctly. Conclusion. - Not linked correctly.

- Some sentences linked
correctly.
(p1) 0.5p1) (0,5p1)

Linguistic - Correct use of present - Use of present - incorrect use of: simple
Resources simple/ present continuous/ | simple/ present / present continuous/
(2 pts) future simple/ conditional | continuous/ future simple/ | future simple/ conditional

type 1.../imperative form.

- Use adjectives
(comparative and
Superlative Forms).

- Use of appropriate modals
(should, must, Can, could,

).
- Use of quantifiers (some,
manys,...).

- Use of link words.

- Use of conjunctions of
cause and effect.

- Vocabulary is varied.

- Punctuation and
Capitalization.

(p1)

conditional type
1.../imperative form.
With some mistakes.

- Use of few

adjectives (comparative
and Superlative Forms).

- Use of few modals.

- Use of some quantifiers.
- Use of some link words.
- Use of some
conjunctions of cause and
effect.

- Little use of Punctuation
and Capitalization.

(0,5p1)

- Vocabulary is not varied.

type 1.../imperative

form.

With some mistakes.

- No use of:

adjectives (comparative
and Superlative Forms).
- Use of few modals.

- No use of quantifiers/
link words/ conjunctions.

- Poor Vocabulary.

- No use Punctuation and

Capitalization.

(0,5pr)

Note: If a candidate is out of the topic, DO NOT take into consideration (DO NOT MARK)
organization and linguistic resources. MARK the format only.
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Texte: Le petit enfant et 1'oiseau

Soudain Thyl ferma la fenétre, courut dans la chambre, sauta sur les chaises et les tables
les mains tendues vers le plafond. Son pére et sa mere virent qu’il ne se démenaitl si fort que
pour atteindre un petit oiselet tout mignon et petit qui, les ailes frémissantes, criait de peur,
blotti contre une poutre dans un recoin du plafond.

L’enfant allait se saisir de lui, lorsque Claes, parlant vivement lui dit :
-Pourquoi sautes-tu ainsi ?
-Pour le prendre, répondit le petit enfant, le mettre en cage, lui donner des graines et le faire
chanter pour moi.

Cependant I’oiseau, criant d’angoisse, voletait dans la chambre en heurtant de la téte les
vitraux de la fenétre. L enfant ne cesse de sauter. Claes Iui mit pesamment la main sur 1’épaule :
-Prends-le, lui dit-il ; mets-le en cage, fais-le chanter pour toi. Mais, moi aussi, je te mettrai dans
une cage fermée de bons barreaux de fer et je te ferai chanter aussi. Tu aimes courir, tu ne le
pourras plus ; tu seras a I’ombre quand tu auras froid, au soleil quand tu auras chaud. Puis, un
dimanche, nous sortirons, ayant oublié de te donner de la nourriture. Au retour, nous trouverons
Thyl mort de faim et tout raide.

L’enfant s’¢lanca.
-Que fais-tu ? demanda son pere.
-J’ouvre la fenétre a I’oiseau, répondit-il.

En effet, ’oiseau, qui était un chardonneret, sortit par la fenétre, jeta un cri joyeux, monta
comme une fléche dans 1’air, puis, s’allant placer sur un pommier voisin, se lissa les ailes du bec
et se secoua le plumage.

Claes dit alors a son fils :

-Fils, n’6te jamais a homme ni béte sa liberte, qui est le plus grand bien de ce
monde, et laisse chacun aller au soleil quand il a froid, a I’ombre quand il a chaud.

Charles Decoster, La 1égende de Thyl

Questions
I- Compréhension de 1'écrit : (13 points)
1- Dans le texte, Claes est :
a- Le pere de Thyl.
b- La mere de Thyl.
c- Le frere de Thyl.
Recopie la bonne réponse.
2- Pourquoi Thyl saute-t-il dans la chambre ?
3- Que veut-il faire du petit oiseau ?
4- Recopie les deux (02) arguments du pere pour convaincre Thyl a libérer I'oiseau :
a- Je t'enfermerai dans une cage,
b- Je te ferai courir,
c- Tu mouras de faim,
d- Je te mettrai au soleil,
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5- Pourquoi Thyl ouvre-t-il la fenétre a I'oiseau ?

6- Classe les expressions suivantes dans le tableau :

- étre a 'ombre quand il fait froid. — étre a I'ombre quand il fait chaud.
- etre au soleil quand il fait froid. — &tre au soleil quand il fait chaud.
Etre en cage Etre libre

..............................................

7- Selon l'auteur, quelle est la chose la plus précieuse souhaitée par 'homme et 1'animal ?

8- Dans le texte, I'auteur argumente :
a- en décrivant.
b- en racontant.
c- en expliquant.
Recopie la bonne réponse.
9- «L'enfant allait se saisir de l'oiseau.»»

Remplace le verbe souligné par un autre de méme sens.

10- «d'oiseau, qui était joyeux, sortit par la fenétre.»»

Réécris cette phrase en commencant ainsi : ««<Lesoiseau................ »

11- J'ouvre la fenétre a l'oiseau, répondit-il.

Ecris cette phrase en la commencgant par :
Ilréponditqu'.......................

12- «Tu aimes courir, tu ne le pourras plus.»

Relie ces deus propositions par : mais / car / quand.

I1- Production écrite : (7points)

Ton meilleur ami décide d'arréter ses études pour trouver du travail et gagner rapidement
de l'argent.

Tu veux l'empécher de commettre cette erreur en lui expliquant I'importance des études.

Ecris un texte d'une dizaine (10) de lignes dans lequel tu essaies de le convaincre en lui
donnant trois arguments pour lui montrer I'utilité¢ des études pour son avenir.
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I- COMPREHENSION:
1- Dans le texte, Claes est :
1pt 1pt a- le pere de Thyl.
1pt 1pt | 2- Thyl saute dans la chambre pour attraper l'oiseau .
1pt 1pt 3- 1l veut le mettre dans une cage.
4- Les deux (02) arguments du pere pour convaincre Thyl a libérer 1'oiseau :
Ipt | 0,5%x2 a- Je t'enfermerais dans une cage .
c- Tu mourras de faim.
1pt Ipt | 5- Thyl ouvre la fenétre a 1'oiseau pour le libérer.
6- Classe les expressions suivantes dans le tableau :
2pts | 05x4 Etre en cage Etre libre
- étre a I'ombre quand il fait froid. | - €tre a I'ombre quand il fait chaud.
- etre au soleil quand il fait chaud. | - étre au soleil quand il fait froid.
Lpt Ipt | 7_ Selon l'auteur, la chose la plus précieuse souhaitée par I'homme et 'animal est la
liberté.
Ipt | 1pt 8- Dans le texte, I'auteur argumente :
b- en racontant .
1pt 1pt | 9- «L'enfant allait se saisir L'oiseaux»>.
- attraper ; prendre ; s'emparer.
1pt | 0,5x2 | 10- Les oiseaux, qui étaient joyeux, sortirent par la fenétre.
Ipt | 0,5x2 | 11- 1l répondit qu'il ouvrait la fenétre.
Ipt | 1pr | 12- Tu aimes courir mais tu ne le pourras plus.

I1- Production écrite : (7points)

Criteres Indicateurs Points
Adéquation a la - Compréhension du sujet. Olpt
production - Capacité a argumenter. 0,5pt
2ot ] 2 .
pts Capacité a raconter 05 pt
Cohérence - Pertinence des idées. 0,5 pt
2pts - Enchainement des idées. 0lpt
- Mise en relation des différents passages (narratif, 0501
argumentatif). =P
Correction de la langue | - Utilisation des connecteurs chronologiques. Olpt
2,5pts - Utilisation correcte des temps verbaux. 0,5 pt
- Respect des regles syntaxiques. Olpt
Mise en page. 0,5pt - Lisibilité, aération du texte. 0,5pt
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